十七 Asset Valuation: Alternative Investments

1: Real Estate and Other Tangible Investments

a: Describe how real estate investment objectives are set.

Setting investment objectives involves two steps: Consider the differences in the investment characteristics of real estate. 
1. Consider the types of real estate investments: 
a. Equity holdings: This is the physical ownership of real estate properties. 
b. Debt instruments: This is the purchase of real estate mortgages and deeds of trust. 
2. Real estate properties can be classified as: 
a. Income properties: Here the returns come mainly from rental income which includes residential properties (houses, duplexes, and apartments) and commercial properties (office buildings, shopping centers, and factories). 

b. Speculative properties: Here the returns come mainly from price appreciation. 

You should establish your investment constraints and goals.
1. To consider your financial goals and constraints, you need to determine: 

1. the risk-return relationship of real estate. 

2. how much of your portfolio should be in real estate (asset allocation). 

3. how you should quantify the goals of these long term investments. 

2. To consider your nonfinancial goals and constraints, you need to determine: 

1. the technical skills needed to maintain the property. 

2. the managerial talents necessary to control the property. 

b: Describe the factors that are important in real estate analysis.

· Identifying and analyzing the physical property. Determine the quality and quantity of assets to be received. 

· Understanding the legal property rights. You must do a legal investigation, as well as, a physical one. 

· Consider the time horizon and the volatility of real estate prices. Analysis of short term investments is different from long term ones. 

· Consider the geographic area. Real estate is a spatial commodity, which means its value is linked to what is going on around it. 

c: Identify the determinants of real estate value.

Demand for the property: Why do people want to buy or rent this piece of property? The demand for a piece of property is influenced by:
1. The economic base of the community in which the property is located. 

2. The population characteristics of the community in which the property is located. This includes demographics (age, sex, household size, occupation) and psychographics (personality, lifestyle, etc.) 

3. The availability of mortgage financing. 

Supply of properties: Size up the competitor’s offerings to the piece of property you want to rent or sell.
1. Competition comes from similar assets and substitutable assets (e.g., people judge properties as sets of substitutable benefits and costs). 

2. Inventory analysis. 

The property itself: To develop a property's competitive edge, the investor must consider the following five points:
1. Use restrictions. 

2. Location analysis. Convenience, socioeconomic, and fiscal. 

3. Site characteristics. 

4. Improvements, such as building size and floor plan and amenities, style, and construction quality. 

5. Property management. 

The property transfer process: The market for real estate is not efficient. There is no centralized market for trading and no organized method to disseminate information. This means research pays off. Also, success in the sale and transfer of property goes to those who can promote their property and negotiate the best deal.
d: Describe how demographic changes can affect supply and demand for real estate.

As a regions' demographics (i.e., family income, age, household size, sex, and occupation) change, so will the value of the regions' real estate.
e: Describe valuation techniques commonly used to estimate the market value of real estate.

The cost approach. This approach values the property at the cost to rebuild it using today's prices. This works best for newer type properties. 
The comparative sales approach. This approach values the property relative to comparable properties that have recently sold in the market area. 
The income approach. This approach values the property as the present value of all future cash inflows. One such method is the direct capitalization approach. This method treats net operating income as if it were a perpetuity. 
Using an expert. This approach just hires a professional real estate appraiser. 

f: Calculate the value of property, using the income approach.

This approach values the property as the present value of all future cash inflows. One such method is the direct capitalization approach. This method treats net operating income as if it were a perpetuity.

Annual net operating income, NOI, is the property’s gross potential, less vacancy and collection losses, less operating expenses including insurance and property taxes. You should note that NOI is before financing and taxes. The market capitalization rate (R) is the rate currently required by investors.

Example: An apartment building would earn $100,000 if fully occupied. The building has a 5% vacancy rate and has operating expenses of $20,000. If you want 10% on this investment, what value would you place on the building?

NOI = $100,000 - (.05)($100,000) - $20,000 = $75,000

MV = 75,000/.10 = $750,000
g: Explain the difference between positive and negative leverage.

If the property earns returns in excess of the cost of borrowed funds the investor's returns will exceed the returns on an all cash deal. This is called POSITIVE LEVERAGE.

If the investment returns fall below the cost of borrowed funds, NEGATIVE LEVERAGE occurs.
h: Outline the framework for real estate investment analysis.

Investor objectives. 

a. Investment characteristics and constraints and goals. 

Analysis of important features. 

a. Physical property. 

b. Property rights. 

c. Time horizon. 

d. Geographic area. 

Data collection and determinants of value. 

a. Demand: Who will buy this property? 

1. Economic base - population, wealth, and income. 

2. Buyer/tenant preferences. 

3. Target market potential. 

4. Mortgage financing conditions. 

b. Supply: What is the quantity and quality of competing properties? 

1. Market structure. 

2. Sources of competition. 

3. Inventorying competitors. 

c. The property: What does this specific property offer? 

1. Restrictions on use. 

2. Location. 

3. Improvements. 

4. Property management. 

d. Property transfer process: 

1. Methods of promotion. 

2. Negotiation pressures and techniques. 

3. Lease provisions. 

Data analysis: valuation. 

a. Market value. How does the seller determine the asking price? 

1. Cost approach. 

2. Comparative sales approach. 

3. Income approach (NOI/R). 

b. Investment analysis. How does the buyer analyze the property’s value. 

1. Net present value analysis based on after tax cash flows. 

2. Internal rate of return analysis. 

Synthesis and interpretation of results. 
i: Calculate the net operating income from a real estate investment.

This approach values the property as the present value of all future cash inflows. One such method is the direct capitalization approach. This method treats net operating income as if it were a perpetuity.

Annual net operating income, NOI, is the property’s gross potential, less vacancy and collection losses, less operating expenses including insurance and property taxes. You should note that NOI is before financing and taxes. The market capitalization rate (R) is the rate currently required by investors.

Example: An apartment building would earn $100,000 if fully occupied. The building has a 5% vacancy rate and has operating expenses of $20,000. If you want 10% on this investment, what value would you place on the building?

NOI = $100,000 - (.05)($100,000) - $20,000 = $75,000

j: Illustrate how depreciation affects taxes and after-tax cash flow.

Depreciation expense reduces taxes by an amount equal to the product of depreciation and the tax rate. If the depreciation expense is $50, and the tax rate is 40 percent, taxes will be reduced by $50 x 40%, or $20 and the after-tax cash flow will also increase by the same amount, i.e., $20.
k: Calculate the after-tax cash flow from a real estate investment.

After tax cash flow = (Revenue – Cost – Depreciation)(1 – t) + depreciation
l: Calculate the discounted cash flow and net preset value of a real estate investment.

NPV equals the present value of all the cash flows to be received from the real estate investment (called the discounted cash flows) less the cost of the investment. You should note that the cash flows used in the net present value process are net of income taxes, but before financing cost.

NPV = PV of cash flows - investment cost.

where CFn = the rent plus the terminal value, r = the discount rate.

1. NPV is +, you earn a rate of return on the investment greater than the discount rate. You are happy! 

2. NPV is 0, you earn a rate of return on the investment equal to the discount rate. You are happy! 

3. NPV is -, you earn a rate of return on the investment less than the discount rate. You are sad! 

m: Describe the major characteristics of real estate investment trusts (REITs) and real estate limited partnerships (RELPs).

Real Estate Investment Trusts (REITs): REITs are closed end investment companies that sell shares to the public. The moneys received plus borrowed moneys are used to purchase real estate investments. REITs were established under the REIT Act of 1960. REITs allow investors to own a portfolio of real estate assets and at the same time have limited liability and no management responsibility. Typically, REITs yield 1 or 2% above money market funds and about the same return as high grade corporate bonds. REITs are required by law to pay out 95 percent of income as dividends, keep 75% of assets in real estate investments, earn at least 75% of their income from real estate, and to hold each investment for at least four years.

Real Estate Limited Partnerships (RELPs) Equity partnerships invest in real estate properties. Debt partnerships invest in mortgages. RELPs are sold as units of participation. Managers assume the role of the general partner and have unlimited liability. Investors have no managerial input and have limited liability. The most investors can lose is their initial investment. 

Types of syndicates: 

1. Single property syndicates are established to raise capital to purchase a specific piece(s) of property. 

2. Blind pool syndicates give the manager discretionary investment control over the funds raised. One of the drawbacks of RELPs is that they are hard to get out of. 

n: Distinguish between an equity and a mortgage REIT.

Equity REITs invest in properties and are the most common form. Mortgage REITs make construction and mortgage loans to developers. Hybrid REITs are a combination of the two.
2: Professional Asset Management

a: Describe how an investment company is structured.

A new fund is started by an investment advisory firm that initiates the investment company (IC), the legal entity that actually owns the fund’s portfolio. The investment advisory firm is the one that appoints the board of directors to oversee the investment company. The board of directors then hires the investment advisory firm to act as the fund’s investment management company (MC). For this the MC gets a management fee. The typical management fee is ? to 1 percent of the fund’s net asset value. Management companies typically manage several funds offering different strategies and characteristics.
b: Distinguish between an open-end and a closed-end fund and between a load fund and a no-load fund.

Closed-end investment companies are initiated through a stock offering to raise funds. The IC does not issue or redeem shares after the initial offering. Shares of a closed-end IC are traded in the public markets and are priced by supply and demand. The share price of a closed-end fund is not directly linked to the fund’s net asset value (NAV). Open-end investment companies are funds that continue to sell and repurchase shares after their initial public offerings. They will buy or sell these shares at the per share NAV. There may be a sales or redemption fee charged for the transaction.

A no load fund charges no fee to purchase the fund’s shares. To buy a share the investor pays the NAV of the share. A load fund charges a sales fee to the investor based on the NAV of the share. If an investor wanted to buy a share of an 8% load fund that had a NAV of $10, the investor would pay ($10/(1 - .08)) $10.87 to buy a share.
c: Explain how a fund's net asset value is calculated.

The NAV is the prevailing market value of all the shares and assets owned by the fund less the fund’s liabilities and then dividing by the number of mutual fund shares outstanding.
d: Distinguish between a closed-end fund's net asset value and the fund's market price.

Closed-end investment companies are initiated through a stock offering to raise funds. The IC does not issue or redeem shares after the initial offering. Shares of a closed-end IC are traded in the public markets and are priced by supply and demand. The share price of a closed-end fund is not directly linked to the fund’s net asset value (NAV). The NAV is the prevailing market value of all the shares and assets owned by the fund less the fund’s liabilities and then dividing by the number of mutual fund shares outstanding. Many closed-end funds sell at a discount of 5 to 20 percent from their NAV.
e: Distinguish between a load fund's net asset value and offering price.

A load fund’s offering price is the sum of the NAV of the share and a sales charge. The latter can be as high as 8 percent for some funds. However, such funds generally do not charge any redemption fee.

SEC Rule 12b-1 permits funds to deduct as much as 1.25 percent of average net assets per year to cover distribution costs. These costs are advertising, commissions paid to brokers, and general marketing expenses. To determine if a fund is taking 12b-1 deductions you should read the fund’s prospectus.
f: Describe the types of fees charged by a mutual fund and how fees affect fund performance.

In addition to load and 12b-1 fees, investment firms charge annual management fees. Fees typically range from .25 to 1% of the average net assets under management. Management fees are a major driving force in the creation of new funds. The fixed costs of running a fund, i.e., research, clerical, and management, do not rise in line with the assets under management since there are economies of scale in fund management.

3: Venture Catalysts or Vulture Capitalists

a: Distinguish among the three early stages of venture capital financing.

· Seed financing is the capital that is provided to develop the initial idea and perform market research. 

· Start-up financing is employed in product development and initial marketing efforts. In this stage, the firm is typically less than one year old and has not sold its product to the general public. 

· First-stage financing is used to begin commercial production and to initiate product sales. 

b: Distinguish among the three states of "expansion financing" for venture capital investments.

· Second-stage financing is capital that is used to expand a firm that has an established commercial product line. 

· Third-stage financing is capital that is used for a major expansion of the firm’s plant and equipment or product development. 

· Mezzanine financing is capital that is provided to a firm that expects to go public within a short period of time. 
c: Distinguish between turnaround venture financing and leveraged buyout/management buyout venture financing.

There are two special cases of venture capital financing.

1. Turnaround financing is typically provided to an existing firm that needs a capital infusion to develop new product lines or new production processes in an attempt to reinvigorate the firm. 

2. Leveraged buyout financing is provided to aid management in taking a public company private through a management or leveraged buyout. 

d: Discuss guidelines for successful venture capital investing.

· A venture capitalist should not try to run a business as the entrepreneur is likely to know what is best if she has significant experience in the industry. 

· A venture capitalist should treat his portfolio of companies as his own children. Sometimes children need to be pushed, but fairness should not be sacrificed. 

· The venture capitalist should provide help when needed. They should also provide a shoulder for the entrepreneur to lean on in times of difficulty. In other words, nurturing is an important aspect of a venture capitalist’s role and the venture capitalist should not pull the plug too soon if the opportunity to achieve the investment’s original potential seems to be absent or fading. 

· The venture capitalist should be realistic and maintain his/her objectivity in the face of the enthusiasm of the entrepreneurs. 

e: Distinguish between the direct and indirect benefits of venture capital investment.

The direct benefits of venture capital investing are:

1. Capital formation. 

2. Local economic development. 

3. Economic expansion 

4. Technological growth and innovation. 

5. Employment growth. 

6. Competitive adaptation in global markets. 

These benefits also include an improved quality of life for users of products created from technological innovations, such as, medical diagnostics and scientific improvements. Moreover, venture capital funded companies also improve the quality of life of their employees.

The indirect benefits of venture capital investing are:

1. Effect on existing ways of doing business. The growth of companies financed by venture capital has led to new sales methods for products and services. 

2. Impact of entrepreneurial companies on entrepreneurial pursuits of larger and more established businesses. 

4: Venture Capital

a: Discuss ways in which a venture capital firm creates value.

Venture capitalists provide more than risk capital. They also provide consulting and management help, which is called growth capital.

Venture capitalists give firms financial support in return for upside participation in the firm’s gains. The potential for gain gives the venture capitalist the incentive to exert some control over the growth and development of the business. Since venture capitalists have teams of accountants, lawyers, investment bankers, and their own reputations to maintain, a venture capitalist’s association with a firm signals that the quality of the venture has increased. Furthermore, venture capitalists have the expertise of originating, evaluating, and packaging deals to the public.

Venture capitalists tend to specialize and provide capital to support promising, but risky, ventures in the venture capitalist’s area of expertise. This specialization is especially helpful in markets that are not completely competitive. Because of this specialization, venture capitalists have a higher probability of identifying undervalued investments than does the typical equity market investor.

The term venture capital is now considered to include private equity capital. There has been a shift away from small business investment companies and corporate venture capital toward private independent venture capitalists. These new venture capitalists include pension plans, endowment, individuals, insurance companies, and non-U.S. investors. The new investors are providing greater access to capital than was previously available.
b: Explain the impact of the conflict among the entrepreneur, the venture capitalist, and the investor.

Agency conflicts (the incentive conflicts that exist between investors, venture capitalists, and entrepreneurs) must be considered and controlled in various ways.

1. The venture capitalist needs to keep the entrepreneur motivated. The venture capitalists’ investment represents an ownership position. Venture capitalists must have contractual agreements to protect their investments. The venture capitalist should also have the right to fire top managers even if that includes the entrepreneur. 

2. The entrepreneur must also keep the venture capitalist interested in the venture. The entrepreneur has only one business project going and needs the continual financial and managerial input of the venture capitalist. 

3. The investor must also keep the venture capitalist motivated. The base compensation for multi-fund managers should be in the 1% of assets range with some sort of carried interest participation in the portfolio’s gains (20% was mentioned). One motivational tool mentioned is the finite life fund. Since the fund has a finite life the venture capitalist will be “performance motivated” to attract new funds or else the venture capitalist will be forced out of business. 

c: Discuss factors that affect venture capital risk and return.

Return expectations in general are in the teens (10 to 20%). Returns in the 40 to 70% range are considered to be a home run hit.

The variability of returns is quite diverse. 50% of all gains come from just 7% (1 in 15) of the fund’s investments. A third of the investments lose money and 10-17% lose everything. Venture capital performance depends on: The real markets (how well the company sells its products) and the financial markets (the willingness of investors to buy IPOs).

The stage of the venture is associated with returns. Seed investments assist in the start-up of a new venture. Early-stage investments are made in companies that are developing their products. Later-stage investments are made in firms that have proven themselves in the real market place but are not yet ready to go public. So while losses are higher in seed investments, the losses are not substantially large in relationship to the fund’s total assets.

The level of venture capital funding in the overall market influences returns. Increased funding for new ventures drives their values up and thus their expected returns down.

Market timing. Timing here means both selling when the market is higher than it used to be and also selling when the market is higher than it is going to be.

Post IPO performance. The general observation about IPOs is that after the initial public offering period companies tend to have relatively poor performance over the next three to five years. Venture capital IPOs, however, tend to behave differently.
d: Discuss the diversification aspect of venture capital as an alternative asset class.

Diversification is a function of the correlation of returns between asset classes. Past annual venture capital returns have been highly correlated with the small-cap market but less so with the large-cap market and not at all with debt markets.

A possible explanation for new venture correlation patterns is that venture capital has low correlations with traditional assets, but high correlations with capital market factors. The low correlation results from the unique risks associated with the products and services of the new ventures. The probability of success or failure of a new venture company is generally not correlated with other business and market factors.

Diversification consequences: At the individual investment level, venture capital investments will have a low correlation with the other assets in an individual’s portfolio. But if investors diversify among ventures they are creating investment pools that are highly correlated with what is happening in the capital markets. So individual venture investments offer diversification potential but venture capital funds or pools do not. Venture investing is one case where the investor can over diversify. Over diversification means mediocre returns.
e: Explain the difficulties of developing a venture capital system internationally.

International activity in venture capital is a relatively new phenomenon. Funding tends to be more merchant capital (just lending) than venture capital (lending plus guidance) in these markets. Most investing tends toward later-stage projects.

· There is a lack of capital available to new ventures in developing countries because of the agency problems involved. Underdeveloped countries tend to have underdeveloped legal systems when it comes to resolving contract issues. 

· Emerging markets also lack active IPO markets creating problems for venture capital exit strategies. 

